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QUESTION 1 [10]
111 | A7 v’ answer
(1)
vv
1.1.2 9; _ /6 each correct answer
4 2)
113 | /“16 v'answer
(1)
1.2 3 v'decimal
7 =0,428571.. v’answer to 3 decimal
0,429 2)
1.3 | 0,000584=584x10" v'5,84
v'10™
(2)
1.4 \/E<\/ﬁ<\/ﬁ \/\/E<\/ﬁ<\/£
4<17 <5 vanswer @
- itliesbetween integers4and 5
QUESTION 2 [10]
2.1 111010 v’ v answer
(2
2.2 21 v'v" answer
(2)
2.3 1011
x 11
1011 v 10110
10110
————— v  answer
100001 @)
241 | [C121=4—1x121 v J-1x121
= \/—_1 x /121 vanswer
=11 (2)
242 |2 —j+e s e
_ - 2 -
=1x1% v'answer
=i (2)
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QUESTION 3[18]
3.1.1 [ 2(2a—4b)—(3a—2b)=4a—8b—3a+2b v 4a—8b
=a-—6b ‘/—3a+2b
v'answer
(©)
3.1.2 | (3x+2)(x—6)=3x>—18x+2x —12 v'3x* -18x v/
—3x2 —16% ~12 pax-l2
answer
@)
3.1.3 | (x—5)(x® +5x+25) = x® +5x? + 25X —5x* —25x =125 | ¥ X* +5x* +25x v/
— X3 —125 —5X2 —-25x-12
v'answer
)
3.2.1 | 8x% —6x =2x(4x—-3) v 2x
v (4x-3)
)
322 | 3Xx—-6xy—-2y+1=3x(1-2y)+(1-2y) v 3x(1-2y)
=(Bx+1)1-2y) v +([1-2y)
v'answer
(©)
3.2.3 | x> —9x+20=(x—-5)(x—4) v'v'each bracket
)
3.2.4 | 3% —16b® = (a—4b)(a + 4b) v'v'each bracket
)
QUESTION 4[19]
4.1.1 | 12b%c? +6b° —5bc? = 2bc? —5bc? V2
_ 2 v'be
=—3bc v answer
(©)
412 | 252 520 52002
52x—1 = 52x—1 ‘/52x—2x+4+l
=52x—2x+4+l
v'simplification
=5°
=3125 v'answer
(4)
4.2 3ab? V3
v ab?
)
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431 | (x=-3) (x+2)
3 2 vLCM
LCM =12
_A(x=3)-3(x+2) v numerator
12
_ 4x-12-3x-6 v v'simplify
- 12 numerator
x—18
= v'answer
(5)
432 | x2-5x-6 2x-2 (x-6)(x+1) 2(x-1) v'v'v'v'factors of each
X = X
x* -1 x> —6x (X=-D(x+1) x(x-6)
=< v'answer
)
QUESTION 5 [18]
511 | 2x =32
v 2°
X _ nb5
27 =2 v'answer
S Xx=5 (2)
512 | 2(2x-1)=x+1
Ax—2=x+1 v'removing brackets
v'rearranging terms
4X —x=1+2
3x=3 v'simplification
sx=1 vanswer
(4)
513 | x> —5x=14
5 B v'standard form
X* —5x-14=0 vfactors
(x=7)(x+2)=0
X=7 0or x=-2 v'v'each answer
(4)
>2.1 F =§C +32
9 v'transposing
F-32==C
S v 5F ~160=9C
5F -160=9C
Sp _160_.
9 9 L,
answer
c_2p_160
9 9
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5.2.2
c_2p_160
o o v'substituti
substitution
¢ -5 50169
9 9 ] vanswer
=10 degree Celsius )
5.3 1000m =1km
1m=1x10"°%km vim=1x10"km
1m® =1x107° km® vim® =1x10"°km®
250m® = 250x10°° km?®
=25x107" km? v answer
3)
TOTAL: 75
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